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4. (6 Pts) Consider the following gas-phase equilibrium reaction:

Na(g) + Ox(g) ~™— 2NO(g); K. =4.10 x 10™ at 2000°C
If 1.0 mol of NO is introduced into a 1.0 L container at 2000°C, what is the concentration of NO when
equilibrium is reached? Cfvﬁj 2
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(4 Pts) Consider the equilibrium: A(s) “'—\ B(s) + C(g) AP >0 A H‘ = '{:j')
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Predict and explain how or whether the following actions would affect this equilibrium.
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c. increasing the pressure on the system by reducing its volume

/'W, pre /? / S Mo (Cank, 5/ C /¢ (vereafad
~ Vi

d. adding helium gas to increase the total pressure
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